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1. If the relation R on the set of integers Z

given by IR = ((x.)):}x=| <1), then Ris
(") An equivalence relation

(8) Reflexive and symmetric

{€) Reflexive and transitive

(D) Symmetric and transitive
(E) None of these

2 1 from C to IR defincd by IR =
¥}, then
(A) (3+ 41125 (8) af (-4)
(© (10412 o)1
(€) None of these
3. Let A Lb.c), then the number of

cquivalence relations containing (a, b} i
(08 (®) 2
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MAXIMUM MARKS 1100

©)4

(©3
(€) None of these

4. IR is the largest equivalence relation on
set P ang T is any refation on P then
(A ReT 8) Te IR
(© ®=7 [
(€) None of these

5. Ifg:IR > IRdefined by gly) = ¢ -¢” s

=

(A) 1-1andonto
(B) 1-1andinto

() Many - one and onto
(D) Neither 11 nor onto.
(€) None of these
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6. Which of the following function from A =
{xeIR 1< <1) to itself are bijective,

(A} fix) =

s
(@) #x) = sin =~

| ax
(€)= S5 () )<

{£) None of these
e e
21). The inverse of g : A

> Agiven by g (y) = 51 s
£y

®(3)

® %{ln/llm,

© ;<14Jl~tllub

0) g
{6) None of o

8. Ifhly)= “1,y -1, then for what value
Sl
of « ish (hly) = y.
(*) 1
©2
{E) None of these

9. The minimum value of ‘ o
(A) 50

(c) 80
(E) None of these.

@75
(0) %0

10.Aty

7, fly) = 2sin3y + 3cos3y is
6

{aro

(€) Minimum

(€) None of these
11. The value of I A is

(8) Maximum
(0)1

sin veosx

9 7
) log ®) log g

(€) log2 1

0 aconS0 e
w2
il -
Wi e
1 !
© g -

(E) None of these

13. The area bounded by
is

!
(A) 3 sa. unit

17
8) 3 5q. unit

15
(© 5 sq.unit
13
©
(£) None of these

sq. unit

e el TR I
14. The area of the region bounded by fines

2y +x=8, x-axis, and x=2,x = 4

() 256, unit

(8) 350_ unit

(€) asq. unit

(0) 5 5q. unit

(€) None of these

15. The value of 'm’ for which

12(log4)’,y=0
may be continuous at x = 0

[E} None of these
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(A) 1 (8) 2
(3 4
(€) None of these
16.1f gly) = (y + 1)V is continuous at y = 0,
then g(0) is
(a1 ®)0
!
©e o)
(E) None of these
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17, The differential of o1} wrt
sec

i )
Jia3x atx= =
(a0

)
© 3

(E) None of these

186 fly) =

derivative of f(¥) is
(o

eyt
{€) None of these

\2e+1)

®)

1

(D) Does not exist

()1
(D)arbec

e
19, The mterval in which f(n) = 2log(n = 2)-
o2 + dn + 1is increasing

(A) (0, 1)
() (=
©) (2.3
(D) (0.%)

(€} None of these

)

_UENee e
sovhe imtegrang  focter,  of

dx
-y )+ ax=ay
dy

- (A)3-Y i)
1

{£) None of these

21. The equation of loc
the sum of its distai
2)is6.

|

(£) None of these
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(-1<p<h

@y

>
© 1=y

us of a point such that
nce from (0, 2) and (0,

18) v

Oy x¥=5

2. The distance of the line 2x + y = 3 from
che point (-1, 3) in the direction whose
slope is -1is

(a) 2 (®)

1
() © 3

(€) None of these

) e
25,1 the image of (2, 1) warz. o fine mireor (5,
2). The equation of the mircor.
() 3xsy-1220 (8] 3x-y-12=0
(€) 3x+y=2 (0) 3x+y+ 1220
{£) None of these

B e —
24 The image of the point (1, 3, a) in the
plane 2x-y +2+3=0is
() 11 (8) -3,5,2)
(© (3,01 D) (0.0.1)
(€) None of these

75,00t of 30 consecutive integers, 2 are
chosen at random. The probability that
their sum is even

14 15
w5 ® 35
18 I
© 37 © 35

(€) None of these
26, The variance for the data A

Piy)=

)
9

1
9
is

1 4
(G ® 3

8
© g

(€) None of these

27.Fora stribution
{A) Mean > varance (B) Mean = variance
{C) Mesn < variance (D) Mean = sum

(€) None of these
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[image: image4.jpg]28.1f the probability of defective ball is 0.1.
The standard deviation for 500 ball is
(A) 57 (8) 671
(©) 729 (0) 731
(E) None of these

29. The three vertices of a parallelogram are
(a+b,a~b)(2a+b,2a~b)and (a~b,a+
b), the fourth vertex is
(8] (a, a) (8) (b, b}
(€) (b, -b) (0) (2, b)
(€) None of these

30.1f x * y denotes bigger among x and y and
X.y=(x*y)+3, thena.7is
a) 12 8) 10
©)7 )a
(E) None of these

31.1f a binary operation * defined by m * n =
m?+n? +mn+ 1, then (3 * 4) * 5 equals
{A) 1660 (8) 1280
(©) 1022 (0) 988
(E) None of these

32. The number of binary operations that can
be defined on a set of 2 elements is
(a)a ®)8
() 16 (0) 32
(€) None of these

33.06p=[1 0 0]thenpis
01 of

5 b4

(A) A null mateix
(B dentify matrix

(C) Disganal matrix
(D) P

(E) None of these

o
@l 1]
(€} None of these

S
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35.1f and B are symmetric then AB - B/
(A) Symmetric (8) Skew Symmetric
(C) Scalar (D) Diaganal
(E) None of these

B |
36.Thevalueof [&* & 6| s

¢ ¢
¥l

()6 ®) 0

(c) 6t (0) &%

(E) Nonc of these

37. The number of solution for the system
equation 2x +y-z=7,x~-3y+2z=1;;

dy-32=5is
(a)1 (8) 2
(©3 (0)0

{E) None of these

380 Cox 'S 1 Cos™ L =, then 92 - 12

2
Cosar +ay? is equal to

(a)1 (8) 36

(€) 36 siner (0) 36costcx
(E) None of these

then X~ Y is

e
()6

© 3
() None of these

o) x

. There are 6% defective items in  lorg,
bulk of items. Find the probability tha
from a sample of § items, not more thar
1is defective.

(A) 1.42x {0.9)"
(8) 1.42(0.05)"
(€) 142x094
(0) (142 x0.98
(€) None of these
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28.1f the probability of defective ball is 0.1.
The standard deviation for 500 ball is
(a) 57 (8) 671
() 729 (b) 731
(E) None of these

29. The three vertices of a parallelogram are
(a+b,a~b)(2a+b,2a~b)and (ab,a+
b), the fourth vertex is
(R} (3, 3) (8) (-b, b)

(€) (b, by (0) (2, b)
{€) None of these

30.1f x * y denotes bigger among x and y and
WHX.y=(x"y)+3, thend.7is
" 12 ) 10
©7 ©)a
{£) None of these

311 a binary operation * defined by m * n =
m?+n? +mn +1, then (3 * 4) * 5 equals
(4) 1660 (8) 1280
(€) 102 (0) 988
() None of these

32. The number of binary operations that can
be defined on a set of 2 elements is

(®8

(0) 32

(A)a
(©) 16
(€) None of these

Bafp=[l 0
01

la & rrJ

(A) A null matrix
(B) 1dentify matrix
(C) Diagonal matrix
(D) -»

(€] None of these

70

3a.0fx= s then x™, pe N is
lo i)

ID il i ol

wlio) @y

[t o [o 1]

© [y ,} ©) | o]

(E) None of these

35.1fA and B are symmetric then AB - B/
(A) Symmetric (8] Skew Symmetric

(©) Scalar (0] Diagonal
(€} None of these
3. Thevalue of [o* 6 Y s
e 8 - @
6 ¢ e
(4) 6 8)0
(©) 6% (©) &

(E) None of these

e —
37.The number of solution for the system
equation 2x +y-z=7,x-3y+2z =

ay-3e=sis
()1 ®2
©3 )0
{E) None of these
R LS TU |
381 Cos ' 21 Cos' L =ar, then 9 — 12
Cosar +4y? is equal to
(a)1 (8) 36
(€) 36sintex (D) 36 cos?ax
(€) None of these
sl N L i |
39.1x=
(e ) fap-
| S (282
(25-a) Vg )
then X - Y is
x S
W ® 5
x
i © 7

(€) None of these

i e A — |

. There are 6% defective items in a larg.
bulk of items. Find the probability tha
from a sample of 8 items, not more thay
1is defective.

(A) 1.42x 0.92)"
(8) 1.42(0.06)"
(C) 142x094
(D) (142) x0.94
(€) None of these

REF/i0M10/BHA





